(2019) 2019:62

### RESEARCH

### **Open Access**

### Check for updates

# Identities, inequalities for Boole-type polynomials: approach to generating functions and infinite series

Yilmaz Simsek<sup>1</sup> and Ji Suk So<sup>2\*</sup>

\*Correspondence: goleta961@jbnu.ac.kr

<sup>2</sup>Department of Mathematics and Institute of Pure and Applied Mathematics, Chonbuk National University, Chonju, South Korea Full list of author information is available at the end of the article

### Abstract

The main purpose and motivation of this work is to investigate and provide some new identities, inequalities and relations for combinatorial numbers and polynomials, and for Peters type polynomials with the help of their generating functions. The results of this paper involve some special numbers and polynomials such as Stirling numbers, the Apostol–Euler numbers and polynomials, Peters polynomials, Boole polynomials, Changhee numbers and the other well-known combinatorial numbers and polynomials. Finally, in the light of Boole's inequality (Bonferroni's inequalities) and bounds of the Stirling numbers of the second kind, some inequalities for a combinatorial finite sum are derived. We mention an open problem including bounds for our numbers. Some remarks and observations are presented.

MSC: 05A15; 05A10; 11B83; 26C05; 30D05; 35A99

**Keywords:** Generating function; Functional equation; Binomial coefficient; Euler numbers and polynomials; Stirling numbers; Peters polynomials; Boole polynomials; Changhee numbers; Special numbers and polynomials; Bonferroni's inequalities

### **1** Introduction

Some well-known notations and definitions are given first:  $\mathbb{N} = \{1, 2, 3, ...\}$ ,  $\mathbb{N}_0 = \{0, 1, 2, 3, ...\}$ ,  $\mathbb{Z}$ ,  $\mathbb{R}$ ,  $\mathbb{C}$  and  $\mathbb{Z}_p$  denote the set of integers, the set of real numbers, the set of complex numbers, and the set of p-adic integers, respectively.  $0^n = 1$  if n = 0 and  $0^n = 0$  if  $n \in \mathbb{N}$ . For  $\nu \in \mathbb{N}_0$  we have

 $(x)_{\nu}=x(x-1)\cdots(x-\nu+1),$ 

 $(x)_0 = 1$  and

$$\binom{x}{\nu} = \frac{x(x-1)\cdots(x-\nu+1)}{\nu!} = \frac{(x)_{\nu}}{\nu!}$$

(cf. [1-22] and the references cited therein).

The Apostol–Euler polynomials  $\mathcal{E}_n(x, \lambda)$  are defined by

$$F_{p1}(t,x;\lambda) = \frac{2e^{tx}}{\lambda e^t + 1} = \sum_{n=0}^{\infty} \mathcal{E}_n(x,\lambda) \frac{t^n}{n!}.$$



© The Author(s) 2019. This article is distributed under the terms of the Creative Commons Attribution 4.0 International License (http://creativecommons.org/licenses/by/4.0/), which permits unrestricted use, distribution, and reproduction in any medium, provided you give appropriate credit to the original author(s) and the source, provide a link to the Creative Commons license, and indicate if changes were made.

When x = 0, the above equation reduces to the following Apostol–Euler numbers:

$$\mathcal{E}_n(\lambda) = \mathcal{E}_n(0, \lambda).$$

Similarly when  $\lambda = 1$ , the above equation reduces to the following Euler numbers:

$$E_n = \mathcal{E}_n^{(1)}(1)$$

(*cf.* [1-20] and the references cited therein).

Let  $k \in \mathbb{N}_0$ . The Stirling numbers of the first kind,  $S_1(n, k)$ , are by

$$F_{S_1}(t,k) = \frac{(\log(1+t)^k)}{k!} = \sum_{n=0}^{\infty} S_1(n,k) \frac{t^n}{n!}$$
(1)

and

$$(x)_{k} = \sum_{j=0}^{k} x^{j} S_{1}(k, j).$$
<sup>(2)</sup>

By the above generating function, we have

$$S_1(0,0) = 1.$$

The other properties are given as follows:

 $S_1(0,k) = 0$  if k > 0.  $S_1(n,0) = 0$  if n > 0 and  $S_1(n,k) = 0$  if k > n (*cf.* [1–23] and the references therein).

The Stirling numbers of the second kind,  $S_2(n, k)$ , are defined as follows:

$$F_S(t,k) = \frac{(e^t - 1)^k}{k!} = \sum_{n=0}^{\infty} S_2(n,k) \frac{t^n}{n!}.$$
(3)

By using (1), an explicit formula for the numbers  $S_2(n, k)$  is given by

$$S_2(n,k) = \frac{1}{k!} \sum_{j=0}^k (-1)^{k-j} \binom{k}{j} j^n.$$

From the above equation, we also have

 $S_2(0,0) = 1.$ 

If k > n, then

$$S_2(n,k) = 0.$$

 $S_2(n, 0) = 0$  if n > 0 and also

$$S_2(n+1,k) = S_2(n,k-1) + kS_2(n,k)$$

(*cf.* [1-23] and the references cited therein).

The Peters polynomials are defined by

$$F_P(t,x;\lambda,\mu) = \frac{(1+t)^x}{(1+(1+t)^{\lambda})^{\mu}} = \sum_{n=0}^{\infty} s_n(x;\lambda,\mu) \frac{t^n}{n!},$$
(4)

where  $x, y \in \mathbb{C}$  (*cf.* [6, 13]).

We now give some special values of this polynomials as follows: When x = 0, we have the Peters numbers [15, 20]:

$$s_n(\lambda, \mu) = s_n(0; \lambda, \mu).$$

When  $\mu = 1$ , we have the Boole polynomials [6, 13]:

$$\xi(x,\lambda) = s_n(x;\lambda,1).$$

If  $\lambda = \mu = 1$ , we get the Changhee polynomials [7, 9]:

$$Ch_n(x) = 2s_n(x; 1, 1).$$

The combinatorial numbers  $Y_n(\lambda)$  and the combinatorial polynomials  $Y_n(x; \lambda)$  are defined, respectively, by [16]

$$F(t,\lambda) = \frac{2}{\lambda(1+\lambda t)-1} = \sum_{n=0}^{\infty} Y_n(\lambda) \frac{t^n}{n!}$$

and

$$F(t, x, \lambda) = \frac{2(1+\lambda t)^x}{\lambda(1+\lambda t)-1} = \sum_{n=0}^{\infty} Y_n(x; \lambda) \frac{t^n}{n!}.$$

The motivation of this paper as regards generating functions for combinatorial numbers is related to the work of Simsek [16]. Let *d* be an odd integer. If  $\chi$  is the Dirichlet character with conductor *d*, then we have the following equation [16]:

$$\int_{\mathbb{X}}\lambda^x(1+\lambda t)^x\chi(x)\,d\mu_{-q}(x)=\frac{[2]}{(\lambda q)^d(1+\lambda t)^d+1}\sum_{j=0}^{d-1}(-1)^j\chi(j)(\lambda q)^j(1+\lambda t)^j.$$

By using the above integral equation, the first author gave the generalized Apostol– Changhee numbers and polynomials by means of the following generating functions, respectively:

$$F_{\mathfrak{C}}(t;\lambda,q,\chi) = \frac{[2]_q \sum_{j=0}^{d-1} (-1)^j \chi(j) (\lambda q)^j (1+\lambda t)^j}{(\lambda q)^d (1+\lambda t)^d + 1} = \sum_{n=0}^{\infty} \mathfrak{Ch}_{n,\chi}(\lambda,q) \frac{t^n}{n!},\tag{5}$$

where  $[x]_q = \frac{1-q^x}{1-q}$ ,  $\lim_{q \to 1} [x]_q = x$  and  $\chi(x + d) = \chi(x)$ .

Also

$$F_{\mathfrak{C}}(t,z;\lambda,q,\chi)=F_{\mathbb{C}}(t;\lambda,q,\chi)(1+\lambda t)^{z}=\sum_{n=0}^{\infty}\mathfrak{Ch}_{n,\chi}(z;\lambda,q)\frac{t^{n}}{n!}.$$

We summarize our paper as follows:

In Sect. 2, we give generating functions for Peters type combinatorial numbers and polynomials. We investigate and provide some fundamental properties of these numbers and polynomials.

In Sect. 3, we derive some inequalities including Stirling's numbers of the second kind and finite combinatorial sums. We also mention an open problem for a Peters type combinatorial number.

# 2 Generating functions for Peters type combinatorial numbers and polynomials

In this section, by (5), we give a generating function for combinatorial numbers and polynomials and investigate properties for the function. By using these functions, we derive identities and relations.

From the above equation, we derive the following generating function:

$$K_d(t,x;\lambda,q) = \frac{[2]_q(1+\lambda t)^x}{(\lambda q)^d (1+\lambda t)^d + 1} = \sum_{n=0}^{\infty} y_{7,n}(x;\lambda,q,d) \frac{t^n}{n!}.$$
(6)

If x = 0, then we get

$$K_d(t,0;\lambda,q) = \frac{[2]_q}{(\lambda q)^d (1+\lambda t)^d + 1} = \sum_{n=0}^{\infty} y_{7,n}(\lambda,q,d) \frac{t^n}{n!}.$$
(7)

*Remark* 1 Substituting d = 1 into (6), we have

$$y_{7,n}(x;\lambda,q) = y_{7,n}(x;\lambda,q,1),$$

which was defined by the first author (cf. [17]).

Substituting  $\mu$  = 1 into (4) after combining with (6), we have

$$F_P(\lambda t, x; d, 1) = \frac{(1+t)^x}{1+(1+t)^d} = \sum_{n=0}^{\infty} s_n(x; d, 1) \frac{t^n}{n!}$$

and

$$K_d(t,x;\lambda,q)=\frac{[2]_q(1+\lambda t)^x}{(\lambda q)^d(1+\lambda t)^d+1}=\sum_{n=0}^\infty y_{7,n}(x;\lambda,q,d)\frac{t^n}{n!}.$$

Having  $\lambda = \frac{1}{q}$  in (6), we have the following functional equation:

$$K_d\left(t,x;\frac{1}{q},q\right) = [2]_q F_P\left(\frac{1}{q}t,x;d,1\right).$$

By using the above equation, we have

$$y_{7,n}\left(x;\frac{1}{q},q,d\right) = [2]_q q^{-n} s_n(x;d,1).$$

Setting d = 1 and  $\lambda = \frac{1}{q}$  in (6), we have

$$K_1\left(t, x; \frac{1}{q}, q\right) = \frac{[2]_q (1 + \frac{1}{q}t)^x}{(1 + \frac{1}{q}t) + 1}$$
$$= \frac{[2]_q (1 + \frac{1}{q}t)^x}{\frac{1}{q}t + 2}$$
$$= \sum_{n=0}^{\infty} \frac{[2]_q}{2} q^{-n} Ch_n(x) \frac{t^n}{n!}.$$

Thus we have

$$y_{7,n}\left(x;\frac{1}{q},q,1\right) = \frac{[2]_q}{2}q^{-n}Ch_n(x).$$

### 2.1 Peters type combinatorial numbers $y_{7,n}(\lambda, q, d)$

Here, by (7), we derive some formulas, indentities and relations.

We assume  $|1 + \lambda q| < \frac{1}{|\lambda q|}$ , by (7), we get

$$K_d(t, 0, \lambda, q) = [2]_q \sum_{n=0}^{\infty} (-1)^n (\lambda q)^{nd} (1 + \lambda t)^{nd}.$$

By using the above equation, we also assume that  $|\lambda t| < 1$ , after that we have

$$\sum_{\nu=0}^{\infty}y_{7,\nu}(\lambda,q,d)\frac{t^{\nu}}{\nu!}=[2]_q\sum_{n=0}^{\infty}(-1)^n(\lambda q)^{nd}\sum_{\nu=0}^{\infty}\binom{nd}{\nu}\lambda^{\nu}t^{\nu}.$$

Comparing the coefficients of  $t^{\nu}$  on both sides of the above equation, we get the following theorem.

**Theorem 1** Let  $|\lambda q| < 1$ . Then we have

$$y_{7,\nu}(\lambda,q,d) = [2]_q \sum_{n=0}^{\infty} (-1)^n \binom{nd}{\nu} \nu! q^{nd} \lambda^{\nu+nd}.$$

By Remark 4 in [21], we have the following formula:

$$\binom{xy}{k} = \sum_{l,m=1}^{k} \binom{x}{l} \binom{y}{m} \binom{l!m!}{k!} \sum_{j=1}^{k} (-1)^{k-j} S_1(k,j) S_2(j,l) S_2(j,m).$$
(8)

Combining (8) with Theorem 1, we can obtain another version of the recurrence formula for the numbers  $y_{7,n}(\lambda, q, d)$ .

Theorem 2 Let

$$y_{7,0}(\lambda, q, d) = \frac{[2]_q}{1 + (\lambda q)^d}.$$

*For*  $v \ge 1$ *, we have* 

$$y_{7,\nu}(\lambda,q,d) = [2]_q \lambda^{\nu} \sum_{l=1}^{\nu} \sum_{m=1}^{\nu} (-1)^m \binom{d}{l} \frac{l!m!(\lambda q)^{dm}}{(1+\lambda^d q^d)^{m+1}} \\ \times \sum_{j=0}^{\nu} (-1)^{\nu-j} S_1(\nu,j) S_2(j,l) S_2(j,m).$$

*Proof* Combining Theorem 1 and (8), we obtain

$$y_{7,\nu}(\lambda, q, d) = [2]_q \lambda^{\nu} \nu! \sum_{n=0}^{\infty} (-1)^n (\lambda q)^{nd} \sum_{l=1}^{\nu} \sum_{m=1}^{\nu} \binom{n}{m} \binom{d}{l} \frac{l!m!}{\nu!}$$

$$\times \sum_{j=0}^{\nu} (-1)^{\nu-j} S_1(\nu, j) S_2(j, l) S_2(j, m)$$

$$= [2]_q \lambda^{\nu} \nu! \sum_{l=1}^{\nu} \sum_{m=1}^{\nu} \binom{d}{l} \frac{l!m!}{\nu!} \sum_{j=0}^{\nu} (-1)^{\nu-j} S_1(\nu, j) S_2(j, l) S_2(j, m)$$

$$\times \sum_{n=0}^{\infty} (-1)^n \binom{n}{m} (\lambda^d q^d)^n$$

$$= [2]_q \lambda^{\nu} \nu! \sum_{l=1}^{\nu} \sum_{m=1}^{\nu} \binom{d}{l} \frac{l!m!}{\nu!} \sum_{j=0}^{\nu} (-1)^{\nu-j} S_1(\nu, j) S_2(j, l) S_2(j, m)$$

$$\times (-1)^m \frac{(\lambda^d q^d)^m}{(1 + \lambda^d q^d)^{m+1}}.$$

By using (7), we have

$$\sum_{n=0}^{\infty} y_{7,n}(\lambda,q,d) \frac{t^n}{n!} = \frac{[2]_q}{2} \sum_{n=0}^{\infty} \mathcal{E}_n(\lambda^d q^d) \frac{d^n \ln (1+\lambda t)^n}{n!}.$$

Combining the above equation with (1), we get

$$\sum_{n=0}^{\infty} y_{7,n}(\lambda,q,d) \frac{t^n}{n!} = \frac{[2]_q}{2} \sum_{m=0}^{\infty} \sum_{j=0}^m d^n \lambda^m \mathcal{E}_n(\lambda^d q^d) S_1(m,n) \frac{t^m}{m!}$$

Since  $S_1(m, n) = 0$  if m > n, by some calculation we derive the following theorem.

**Theorem 3** Let  $m \in \mathbb{N}_0$ . Then we have

$$y_{7,m}(\lambda,q,d) = \frac{1+q}{2} \sum_{j=0}^{m} d^n \lambda^m \mathcal{E}_n(\lambda^d q^d) S_1(m,n).$$

By (7), we obtain

$$[2]_q = \left( (\lambda q)^d (1+\lambda t)^d + 1 \right) \sum_{n=0}^{\infty} y_{7,n}(\lambda,q,d) \frac{t^n}{n!}.$$

From the above equation, we get

$$[2]_{q} = (\lambda q)^{d} \sum_{n=0}^{\infty} \sum_{j=0}^{n} \binom{n}{j} (d)_{j} \lambda^{j} y_{7,n-j}(\lambda, q, d) \frac{t^{n}}{n!} + \sum_{n=0}^{\infty} y_{7,n}(\lambda, q, d) \frac{t^{n}}{n!}.$$

After some elementary calculations and comparing coefficients  $\frac{t^n}{n!}$  on both sides of the above equation, we arrive at the following recurrence formula:

### Theorem 4 Let

$$y_{7,0}(\lambda,q,d)=\frac{1+q}{(\lambda q)^d+1}.$$

*For*  $n \ge 1$ *, we have* 

$$y_{7,n}(\lambda, q, d) = -(\lambda q)^d \sum_{j=0}^n \binom{n}{j} (d)_j \lambda^j y_{7,n-j}(\lambda, q, d).$$
(9)

By substituting (2) into (1), we derive the following corollary.

### **Corollary 1**

$$y_{7,n}(\lambda, q, d) = -(\lambda q)^d \sum_{j=0}^n \sum_{k=0}^j \binom{n}{j} d^k \lambda^j S_1(j, k) y_{7,n-j}(\lambda, q, d).$$

### 2.2 Peters type combinatorial polynomials $y_{7,n}(x;\lambda,q,d)$

Here, by (6), we derive some formulas, identities and relations for the polynomials  $y_{7,n}(x; \lambda, q, d)$  and the numbers  $y_{7,n}(\lambda, q, d)$ .

**Theorem 5** 

$$y_{7,n}(x,\lambda,q,d) = \sum_{j=0}^n \binom{n}{j} (x)_j \lambda^j y_{7,n-j}(\lambda,q,d).$$

*Proof* Substituting (7) into (6) and assume  $|\lambda t| < 1$ , we have

$$\sum_{n=0}^{\infty} y_{7,n}(x,\lambda,q,d) \frac{t^n}{n!} = \sum_{n=0}^{\infty} \binom{x}{n} (\lambda t)^n \sum_{n=0}^{\infty} y_{7,n}(\lambda,q,d) \frac{t^n}{n!}$$
$$= \sum_{n=0}^{\infty} \sum_{j=0}^n \binom{n}{j} (x)_j \lambda^j y_{7,n-j}(\lambda,q,d) \frac{t^n}{n!}.$$

**Theorem 6** Let  $\chi$  be the Dirichlet character with conductor d. Then we have

$$\mathfrak{Ch}_{n,\chi}(\lambda,q) = \sum_{j=0}^{d-1} (-1)^j \chi(j)(\lambda q)^j y_{7,n}(j;\lambda,q,d).$$

*Proof* By combining (5) with (6), we get the following functional equation:

$$F_{\mathfrak{C}}(t;\lambda,q,\chi) = \sum_{j=0}^{d-1} (-1)^j \chi(j) (\lambda q)^j K_d(t,j;\lambda,q).$$

From the above equation, we get

$$\sum_{n=0}^{\infty} \mathfrak{Ch}_{n,\chi}(\lambda,q) \frac{t^n}{n!} = \sum_{n=0}^{\infty} \sum_{j=0}^{d-1} (-1)^j \chi(j) (\lambda q)^j y_{7,n}(j;\lambda,q,d) \frac{t^n}{n!}.$$

Comparing coefficients  $\frac{t^n}{n!}$  on both sides of the above equation, we get the derived result.  $\Box$ 

In [11], Kucukoglu and Simsek defined

$$F_d(t;\lambda,q) = \frac{\ln(1+\lambda t)}{(\lambda q)^d (1+\lambda t)^d - 1} = \sum_{n=0}^{\infty} I_{n,d}(\lambda,q) \frac{t^n}{n!},$$

$$G_d(t,x;\lambda,q) = (1+\lambda t)^x F_d(t;\lambda,q) = \sum_{n=0}^{\infty} I_{n,d}(x;\lambda,q) \frac{t^n}{n!}.$$
(10)

By combining (6) and the above equation, we get the following functional equation:

$$G_{2d}(t,2x;\lambda,q) = \frac{1}{[2]_q} G_d(t,x;\lambda,q) K_d(t,x;\lambda,q).$$

Using the above equation, we derive

$$\sum_{n=0}^{\infty} I_{n,2d}(2x;\lambda,q) \frac{t^n}{n!} = \frac{1}{[2]_q} \sum_{n=0}^{\infty} y_{7,n}(x;\lambda,q,d) \frac{t^n}{n!} \sum_{n=0}^{\infty} I_{n,d}(x;\lambda,q) \frac{t^n}{n!}$$

Therefore,

$$\sum_{n=0}^{\infty} I_{n,2d}(2x;\lambda,q) \frac{t^n}{n!} = \sum_{n=0}^{\infty} \frac{1}{[2]_q} \sum_{j=0}^n \binom{n}{j} y_{7,j}(x;\lambda,q,d) I_{n-j,d}(x;\lambda,q) \frac{t^n}{n!}.$$

Comparing coefficients  $\frac{t^n}{n!}$  on both sides of the above equation, we arrive at the following theorem.

**Theorem 7** 

$$I_{n,2d}(2x;\lambda,q) = \frac{1}{[2]_q} \sum_{j=0}^n \binom{n}{j} y_{7,j}(x;\lambda,q,d) I_{n-j,d}(x;\lambda,q).$$

### **Theorem 8**

$$(x)_{n} = \frac{(n)_{d}}{[2]_{q}} \sum_{j=0}^{n-d} \binom{n-d}{j} (d)_{j} \lambda^{d+j} y_{7,n+d-j}(x;\lambda,q,d) + y_{7,n}(x;\lambda,q,d),$$

where  $(d)_j = d(d-1)\cdots(d-j+1)$ .

*Proof* By definition of  $y_{7,n}(x; \lambda, q, d)$ , we have

$$[2]_{q}(1+\lambda t)^{x} = t^{d} \sum_{n=0}^{\infty} \frac{(d)_{n}}{n!} \lambda^{d+n} t^{n} \sum_{n=0}^{\infty} y_{7,n}(x;\lambda,q,d) \frac{t^{n}}{n!}.$$

After some calculation in the above equation, we get

$$[2]_{q} \sum_{n=0}^{\infty} \lambda^{n}(x)_{n} \frac{t^{n}}{n!} = t^{d} \sum_{n=0}^{\infty} \sum_{j=0}^{n} {\binom{n}{j}} (d)_{j} \lambda^{d+j} y_{7,n-j}(x;\lambda,q,d) \frac{t^{n}}{n!} + \sum_{n=0}^{\infty} y_{7,n}(x;\lambda,q,d) \frac{t^{n}}{n!} = \sum_{n=0}^{\infty} {\binom{n}{d}} \sum_{j=0}^{n-d} {\binom{n-d}{j}} (d)_{j} \lambda^{d+j} y_{7,n+d-j}(x;\lambda,q,d) \frac{t^{n}}{n!} + \sum_{n=0}^{\infty} y_{7,n}(x;\lambda,q,d) \frac{t^{n}}{n!}.$$

# 3 Inequalities for Stirling numbers of the second kind and finite combinatorial sums

Bonferroni's inequalities, also known as Boole's inequality, are dependent on probability and also associated with the principle of inclusion and exclusion; for detailed information as regards these inequalities see the work of Comtet and Wagner [4, 23].

We mention an open question for bounds for  $y_{7,n}(\lambda, q, d)$ .

By using (3), we also have the following well-known explicit Stirling numbers of the second kind:

$$S^*(n,k;m) = \sum_{j=1}^m (-1)^{j-1} \binom{k}{j} (k-j)^n \tag{11}$$

for  $n, m, k \in \mathbb{N}$ .

By using Bonferroni's inequalities the above finite sum satisfies the following well-known inequalities:

If m = k - 1,  $S^*(n, k; m) = k^n - k!S_2(n, k)$ .

If *m* is an odd integer and m < k - 1 we have  $S^*(n, k; m) > k^n - k!S_2(n, k)$ .

If *m* is an even integer and m < k - 1 we have  $S^*(n, k; m) < k^n - k!S_2(n, k)$ .

Wagner [23] gave proofs of the above results.

**Lemma 1** If m = k - 1, we have

$$S^{*}(n,k;k-1) \ge k^{n} \left(1 - \frac{k!}{n} \binom{n}{k} k^{1-k}\right).$$
(12)

*Proof* Upper bound for the  $S_2(n, k)$  is given as follows [4]:

$$S_2(n,k) \le \binom{n-1}{k-1} k^{n-k}.$$

Since

$$S^*(n,k;k-1) = k^n - k!S_2(n,k)$$

if m = k - 1, we obtain

$$S^*(n,k;k-1) \ge k^n k! \binom{n-1}{k-1} k^{n-k}.$$

After some elementary calculation, we complete proof of Lemma 1.

**Lemma 2** If m = k - 1, we have

$$S^*(n,k;k-1) \le k^n \left(1 - \frac{k!}{k^k}\right).$$
 (13)

*Proof* The lower bound for the  $S_2(n, k)$  is given as follows:

$$S_2(n,k) \ge k^{n-k}$$

(*cf.* [4]).

Since

$$S^*(n,k;k-1) = k^n - k!S_2(n,k)$$

if m = k - 1, we obtain

$$S^*(n,k;k-1) \le k^n - k!k^{n-k}$$
.

After some elementary calculation, we complete proof of Lemma 2.

Combining (12) and (13), we get bounds for  $S^*(n, k; m)$  by the following theorem.

### Theorem 9

$$k^{n}\left(1-\frac{k!}{n}\binom{n}{k}k^{1-k}\right) \le S^{*}(n,k;k-1) \le k^{n}\left(1-\frac{k!}{k^{k}}\right).$$
(14)

*Open Problem*. By using (12) and (13), is it possible to find bounds for  $y_{7,n}(\lambda, q, d)$  with the help of Theorem 2?

Acknowledgements

The first author was supported by the Scientific Research Project Administration of Akdeniz University. This paper is dedicated to the 70th anniversary of birth of the eminent mathematician and Academician professor Gradimir V. Milovanovic.

### Funding

Not applicable.

### Availability of data and materials

Not applicable.

### Competing interests

The authors declare that they have no competing interests.

### Authors' contributions

All the authors participated in every phase of the research conducted for this paper. All authors read and approved the final manuscript.

#### Author details

<sup>1</sup>Department of Mathematics, Faculty of Science, University of Akdeniz, Antalya, Turkey. <sup>2</sup>Department of Mathematics and Institute of Pure and Applied Mathematics, Chonbuk National University, Chonju, South Korea.

### **Publisher's Note**

Springer Nature remains neutral with regard to jurisdictional claims in published maps and institutional affiliations.

### Received: 30 January 2019 Accepted: 21 February 2019 Published online: 08 March 2019

#### References

- 1. Apostol, T.M.: On the Lerch zeta function. Pac. J. Math. 1, 161–167 (1951)
- 2. Boas, R.P., Buck, R.C.: Polynomial Expansions of Analytic Functions. Academic Press, New York (1964)
- Boyadzhiev, K.N.: Apostol–Bernoulli functions, derivative polynomials and Eulerian polynomials (2007). arXiv:0710.1124v1
- 4. Comtet, L: Bonferroni inequalities. In: Advanced Combinatorics: The Art of Finite and Infinite Expansions, pp. 193–194. Reidel, Dordrecht (1974)
- Djordjevic, G.B., Milovanovic, G.V.: Special Classes of Polynomials. Faculty of Technology, University of Nis, Leskovac (2014)
- 6. Jordan, C.: Calculus of Finite Differences, 2nd edn. Chelsea Publishing Company, New York (1950)
- 7. Kim, D.S., Kim, T.: Barnes-type Boole polynomials. Contrib. Discrete Math. 11, 715 (2016)
- Kim, D.S., Kim, T., Kwon, H.I., Mansour, T., Seo, J.: Barnes-type Peters polynomial with umbral calculus viewpoint. J. Inequal. Appl. 2014, 324 (2014)
- 9. Kim, D.S., Kim, T., Seo, J.: A note on Changhee numbers and polynomials. Adv. Stud. Theor. Phys. 7, 993–1003 (2013)
- Kruchinin, D.V., Kruchinin, V.V.: Application of a composition of generating functions for obtaining explicit formulas of polynomials. J. Math. Anal. Appl. 404(1), 161–171 (2013)
- 11. Kucukoglu, I., Simsek, Y.: On a family of special numbers and polynomials associated with Apostol-type numbers and polynomials and combinatorial numbers. Preprint
- 12. Liu, G.D., Zhang, W.P.: Applications of an explicit formula for the generalized Euler numbers. Acta Math. Sin. Engl. Ser. 24(2), 343–352 (2008)
- 13. Roman, S.: The Umbral Calculus. Academic Press, New York (1984)
- 14. Simsek, Y.: Generating functions for generalized Stirling type numbers, array type polynomials, Eulerian type polynomials and their alications. Fixed Point Theory Appl. **2013**, 87 (2013)
- Simsek, Y.: Analysis of the *p*-adic *q*-Volkenborn integrals: an approach to generalized Apostol-type special numbers and polynomials and their applications. Cogent Math. **3**, 1269393 (2016) https://doi.org/10.1080/23311835.2016.1269393
- Simsek, Y.: Construction of some new families of Apostol-type numbers and polynomials via Dirichlet character and p-adic q-integrals. Turk. J. Math. 42, 557–577 (2018)
- 17. Simsek, Y.: On Boole-type combinatorial numbers and polynomials, to appear in Filomat
- 18. Simsek, Y.: Apostol type Peters polynomials and numbers and their generating functions and applications. Preprint
- Srivastava, H.M., Choi, J.: Zeta and q-Zeta Functions and Associated Series and Integrals. Elsevier Science Publishers, Amsterdam (2012)
- Srivastava, H.M., Kucukoglu, I., Simsek, Y.: Partial differential equations for a new family of numbers and polynomials unifying the Apostol-type numbers and the Apostol-type polynomials. J. Number Theory 181, 117–146 (2017)
- Srivastava, H.M., Kucukoglu, I., Simsek, Y.: A new family of Lerch-type zeta functions interpolating a certain class of higher-order Apostol-type numbers and Apostol-type polynomials. Quaest. Math. 42, 1–14 (2018)
- 22. Sury, B.: Sum of the reciprocals of the binomial coefficients. Eur. J. Comb. 14, 351–353 (1993)
- 23. Wegner, H.: Stirling numbers of the second kind and Bonferroni's inequalities. Elem. Math. 60, 124–129 (2005)